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Examin
I
Answer all the questions in the space provided. .

1. Identify which two of the following are characteristics of Public Limited Companies (PLCs). [2]

Tick (V) two boxes only.

Owned by the government ; / Unlimited liability \/

Shares are sold on the

Minimum of 2 owners stock exchange

2. Identify which two of the following are advantages of international trade to UK businesses. [2]

Tick (/) two boxes only.
High transportation costs Increased sales /
New markets \/ Language barriers

T
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3. Below are a number of business terms and phrases.

Job

Turnover

Cost of sales

Profit and loss
account

Flow (Mass)

Quantitative data

Cash-flow forecast

Qualitative data

Identify which of the terms above best describes each of the following:

(a) The method of production that produces many identical items. [1]
e EYOW). (00GSS).

(b) The money a business makes from sales. 1]
e NOONE

(c) Information that is numerical and often shown in graphs or tables. 1]

O(-C. d\ p
UK o ondlosS . occount
(d) A prediction of the money going in and out of a business over a period of time. 1

03
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4. Bertie's Berry Crunch is a breakfast cereal that is only sold in UK supermarkets. It has been
available since 2011. Due to the quality of the ingredients, Bertie's Berry Crunch is sold at a
high price. The graph below shows the product life-cycle of Bertie's Berry Crunch.

(rokulety

Sales

I 1 1
2011 2012 2013 2014 2015 2016 2017 2018 2019 2020 2021 2022

Using the graph above, identify which stage of the product life-cycle Bertie's Berry

(@) 9 graph
Crunch is in during;
(i) 2015 (3)(0\)3’(\(\ )
(i) 2021 ... % (-6 S A R [
Song
(b) Outline two extension strategies that Bertie's Berry Crunch could adopt to improve
[4]

. Befie's Belyy, et _amiloNe ﬂne

..................... celead . by o et .......Q(ec,t‘a%...
_CNQU( ............. 0] e the ............... elenl .\ {ﬂg

onothe( . \dawy k\mjr B Cloach .

oo anfove.  ZaleS. i €)<9c\<\0\m9
.............. ¥ Qs Qs NI (\0\1503* Notoral) .
Sl (\’\ecm\ng thot O s \Amofeq
e nalkets

5. State two resources needed to produce goods or services. [2]
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© WJEC CBAC Lwd (3510U10-1)



6. Saundersfoot Sheds, based in Pembrokeshire, is a business that designs and builds garden
sheds for its customers. The business has one shop in Saundersfoot and will only deliver in
Pembrokeshire.

(a) Identify which one of the following best describes the scale of operation of Saundersfoot

Sheds. (1]
Tick (v) one box only.
Local /
National
Global

Below is a graph showing the number of sheds sold per month by Saundersfoot Sheds.

Number of sheds sold per month by Saundersfoot Sheds

41

[

| January February March

(b) (i) Describe the trend of sales for Saundersfoot Sheds shown in the graph above. [1]

Coothe o Mead oof . Sales S thob
............ W demand . oF . Sheds . icease. .,...o.\.uﬁmg. L}

S\)W\W\Q(

Saundersfoot Sheds has earned £75 330 revenue from the sales of sheds from January

to September.

(i) Calculate the average selling price per shed.

.......... 134142424420 +236 1A\ ¥ 29 128 =G
........... 2.1
e . QVe(Qge ........... Sed . Was. £27

June July August September
— - |

(2]
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. Jane Miller is a fitness instructor in a gym called Fit and Healthy in Llanelli, Wales. Jane has
worked at Fit and Healthy Gym since it opened in 2012 but she hopes to start up her own gym
in the local area in the near future. Jane is aware of the risks and rewards of starting up a

business.
(@) Suggest and explain one risk and one reward to entrepreneurs of starting a business.

[4]

Risk: . ‘(— ................ SQOQ:) .................. | P \ S— Qok.._ahe
ko ake. . econ )\2 _taoned).. fol et

................ OfAM.. -%ap to. bleak _ouen  o( eyn
................ (OQKE... (I(O" \' d\le...;... m &b&nq)o\
...Smm\x \oc&\ o(@o | \V\n..._.......ﬂok..........mul\gj.,.CUME'

N e (\ ,,)K 00 ) N 0 WO [« \\ Y o =S

| (“’\or\eL
Reward: _ %\)) & \JQ( SQ 065 .............. g\ﬁm .......... we(e ........
eno ] ou.\d_..,_,.A....__.K.ee.? 0\.\ _____________ th@ ............ ? (oRrS

to oesere o aad . Contd St to.

comfete. aa...the .. QM. Nalet L.
............... ST 2 A\ N (0 0 L2 Vo e

If Jane was to start-up a business she would be able to get help and advice from different
organisations.

(b) Name one organisation that may help an entrepreneur start-up a business. 1]

............... We(ge(S

IR
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Jane has been looking into sites where she may wish to set up her gym. Jane is aware of an
empty unit that is available to rent in the same retail park as Fit and Healthy Gym, where she
currently works. A plan of the retail park is shown below.

Bus Stop and Taxis

(Open 24 Homs)

350010

Somi
(c) With specific reference to the retail park plan, analyse the suitability of the selected site
for Jane to setup a gym [6]

F,u'\%, ~Wowd Lnngel!
\'\\0\‘(30\0&1 Qﬁm.... m’ Snomo\ .
s Setred becanse
............. 06 el ( ol (@m‘lehm( Gr.ond
\\eu\ - BRIV (W S
Ly b e( hon . Sones LAmf
obue W \ne(\ CuStomes. . alve. . aES.
_the St bgoecand. Ho&\me( oy
Hr\e(ﬁ _See. . (Meana... that theg .
................ Wola Qutomahccuuj _dlow. . el ahend
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Additional space for Question 7(c) only:

o rplewne  fooeel . teanng. tat. bah
.............. S ?d%.. go\\(ecgﬁﬁnd\ | fbne:?%mgeé

............... 98 o(ecuotome()&eodmgmmfe
.............. G

Jane has carried out market research to help identify and understand her potential customers.

(d) Suggest a reason why it is important for a business to identify and understand its
potential customers. (1]

.................. bo....find.._CuSomers  needs 10 fhe
ool Lok acease . Toke

After much consideration, Jane has decided to quit her job and borrow £50000 from the bank
to set up a new gym in the retail park in Llanelli. Jane has been approached by co-workers
and friends about setting up the business with them rather than by herself. Jane feels that the
business has a good chance of succeeding and is unsure as to which type of ownership she
should choose for her new business. S B

a

(e) Advise Jane as to which type of business ownership she should choose to set up the
gym. [8]

T Wod . oduse. Tne o Clate
O .....Y_(‘_\'\.JQ&Q...,H........\.{mx'tfd....u._........Com‘?(m% ........... 05
ot beveve o Baor e Wl |
et e busieesses ot 0f becouse
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8. Aberavon Car Centre is a used car sales business that has been open for more than 45 years. E
It is a small-scale car business with only one showroom and two owners, who are also the
only workers. Aberavon Car Centre is based in Port Talbot, South Wales and sells used cars
in a range of makes and models. The cars the business sells are all under 5 years old and the
average price is £15000 per car. The business slogan is “The home of quality cars”.

(a) Describe what Aberavon Car Centre customers expect from a quality car. [1]

ool adel D VpalS ol

(b) ldenufy one way a business achieves quality. [1]

........... cga@gmm goo&&mdmck

Soond

(c) Describe how Aberavon Car Centre could use Information Technology (IT) packages to
help in its workplace.

.................. Abe(avm(,q{c | Cond use. (IF)
?(omg%e o ao\veme .............. Maosl
,....__......bus..\.n.ess Hne LoNin@ . Mnalket
.............. G@Some Cuq’vcm@f 5......0naw..... loar/ Send (h
EO( k‘ﬂ@l( \O‘eik\ (C\( AEU{' ‘3) e
fulnel Gy s Sneans_ the. caf.
cate oad be .............. ?.( oMdana .outs_.d e
& Qbe.(C\Uoﬂ Yo (o (akofol Sale.

(d) (i) Identify two stages in the sales process. [2]

Sostece
% . (\\J\(’m(m% ................................................................................... R
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(i) Describe how the sales process is used by Aberavon Car Centre to sell high value o

products. [2]

L Abelovon. Cal o cenkfe. \aseS.  the
.............. eS.. Mocess.... ka....__.....{.r_.u’r(aduc.e..m.,_.,...Cm.o\_ —
?mh e ol to. Hhe  Customel
om/mce t\nem Yoen. ot fhetj
\\c\ve Claged deat . tey do aumia
Y. §€’€’ AE ﬂrfg Soh..ot... e CU,.)f’OfT\GH

Aberavon Car Centre has many competitors, for example other small-scale used car retailers
and large-scale car retailers such as Trade Centre Wales. Trade Centre Wales has five large

showrooms, employs over 500 people and made profits of over £20.4 million in 2019.

(e) Discuss the pricing strategies that Aberavon Car Centre might use to increase sales.

m(xt'm S o
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9. Seaside Sweets is a small traditional sweet shop in Bangor, North Wales. Seaside Sweets is

owned by Rashid Khan, a sole trader, who currently employs two part-time workers to help
him out during busy times. Below is a monthly break-even chart for Seaside Sweets.

Seaside Sweets’ monthly break-even chart
1600 , ——
1400
: Atal revenue
1000 . —_— <
800 = fottd_ CoSfS

600 = =
4004— ixed costs

200 ——  |-Bleck even

)

-
N
o
o

Cost/Revenue (£

I T I 1 I 1 L
0 100 200 300 400 500 600 700 800
Bags of sweets

r ( 3 |-x x 7o
Seaside Sweets currently pays its supplier £1 per bag. |O{0\ eV - {irec C -~

(@) On the break-even chart above, draw the total cost line for Seaside Sweets. [2]

(b) Identify how many bags of sweets Seaside Sweets must sell to break-even. [1]

The supplier for Seaside Sweets is increasing the cost from £1 per bag to £1.50 per bag.

(c) Identify the impact that the change in costs may have on Seaside Sweets. 1]

13
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I
One of the part-time workers has decided to leave the sweet shop, so Rashid will need to e

recruit a new worker to fill the vacancy at Seaside Sweets. The worker will be expected to

serve customers and re-stock shelves. ‘So\) dew 'lh on
(hafCCRLoh (S
Rd

(d) Explain how Rashid may use the recruitment process to help him employ a new ) “"wm
part-time worker. [6]

R Kas\\\c}\ Wowldh fo..
_Cleoke. ... Sob deshx o(\ (eq,u\( : “9
Ye. (0@ o(— e Scb.. e ik W
e sed. the VoS Yk ube
L.)o(V\ec\ 9%—6‘— H)E x .Gemount... k\\e
emfiovee . be . faued. ok the
3 T and \(bﬂg k‘n@ _AolacteleS.
bt Cond e (eqm(ed Mtet .tk
fadd o can ot Hhe Xk dest{(\‘)nm
oo e b e o uoked.
N0 enfioyees to docort oo 6ok
S S 20 fhot. e can Hc\CQ
..Someone. u\k\/\ (ve%ﬁr\mg r\eeded

& e S, tea o el
. Candiaates.... %O( Eb Qx\d 6?3a’\

B - &, m&e(\/xeb} r\\en %nc\\\(ﬁ \n(e
..................... Mook Butabie. Qeton ~ ol e St

Additional space for Question 9(d) only:
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Rashid has selected a new part-time worker. The new worker will need to be trained.

(e) With reference to Seaside Sweets, outline one suitable method that Rashid might use to
train his new part-time worker. [2]

........ Cl(\ 6& \B S«&\% O(A?JOK DK \\ tQ
A& Gead . Con bP faw g\“\\’ st
\<ee<mg te GugioesS. o o

Rashid is unsure as to whether he should try to grow his business or to remain small.

(f) Assess the reasons why Rashid might grow the business or choose to remain small. [8]

A0 Rahd . \efe . %o agow.
L busaess e woutd (—(jbt e ab\e
_____________ kO QoW Sectido Smegfg on. O
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10. Beds UK sells beds and mattresses across the UK. Beds UK has shops in Cardiff (Wales),
Birmingham (England), Manchester (England) and Edinburgh (Scotland) and its head office is
in London (England). Each shop has a manager and its own sales team to try to make sales to
the public. Beds UK only distributes its products from its shops.

(@ The position of a manager is an important job role in a business. Identify one
characteristic of a managerial job role. 1]

..... eeadSW R

Beds UK has a regional (geographical) organisation structure shown in the diagram below:

Beds UK
Head Office (London)
I
l | l I ]

Shop Shop Shop Shop

i
Cardiff Birmingham M Manchester Edinburgh

(b)  With reference to the organisation structure shown above, describe one problem with
the type of organisational structure used by Beds UK.

[2]
coteeBas Beds UK. Should
oxlord o (nofe Shots an B
RS - AL SE T ¢ (e A c SN VS s =

Jasper is part of the sales team at the Cardiff shop for Beds UK and earns 12% commission

on any sales he makes. Alsiz A< (7. )

only

(c) Jasper sells products to the value of £4 830 in a month. Calculate how much
commission he earns, in that month. [1]
% -~ CC
o ABAE 7825868 M— |
Commission is an example of a financial method of motivation.
(d) Identify two benefits to a business of a motivated workforce. [2]
0, . i .
1. beot (Ustome(.. SakiStachon e
2. ... m.,..\x.\.r»(‘j ofo o Wotw
17 © WJEC CBAC Lid (3510U10-1) Turn over.
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Below are the profit and loss accounts for Beds UK for 2021 and 2022. bt
Profit and Loss Accounts 2021-2022
2021 2022

Sales \/ £5020100 \ ‘( £4800000 X

Cost of Sales J £2008040 ||, | 4' £2160000 X

Gross Profit \/ £3012060 ' | J £2640000 X

Rent J £520000 & | T £535000 X

Business Rates J £234000 £240750 X

Wages (Salary and Commission) | X £1712412 £1686000

Other Expenses \/ £43056 £45100%¢ |

Total Expenses X £2509468 £2506850

Net Profit \/ £502592 £133150 X
(e) Analyse the financial performance of Beds UK over the two years. [4]

COveCon L beteve ok 2020 xS

the mole.duccestunl . Uga(... than . 2007 ..
I~ o s O ST\ o« v o .o dl%ec\@
o 0ee fehe LS £36Q447_
__aeund £220l00  noe i ba\.eb.._......x.a ...........
ooy \apever they  Were ghie
‘o Sfend 52(/) 41727 less... 1(\0)(156
tee \y otel mawoe  this xS
| due, be&S (\Ot’ X f\dmg QHQ(
............. \\mky@( )1 T D
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Beds UK has decided to close the Edinburgh (Scotland) shop. This decision will affect
stakeholders such as the owners, the workers, customers and suppliers. <

omk
(f) Consider how stakeholders may be affected by the decision to close the Edinburgh
shop. [10]

_Yokehdders. . Gle. ofected by tho

..bf’CQU\SQ %\(_;Hg e Lolke(s %Woujw—s\

.Beds. . 0D 5o left Lithout G
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aa. Shote. A\ One. Shot
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